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HE S K4 FAR T [ 4 Bk B | JE  BsEITHE A EHE | A w2 | JE | RAEER RANEN
6 gk TE 2 ARALZTT 12. 800 2 11. 450 1 12. 800 1 13.100 | 1 50. 150 1
TN MA 2 AFRLVLITT 12.600 | 4 9. 900 5 12.150 | 2 12.450 | 2 47.100 2
12 A& B 8+ 1 HEHEISEFZAV2=T 13. 000 1 10. 350 4 11. 650 3 11.400 | 5 46. 400 3
18 HA BEE 3 EHEYVI=TKREITT 12.250 5 11. 350 2 10.950 5 10.750 @ 6 45. 300 4
19 i A LBY H3 LARXEKERITT 11.400 | 9 11. 000 3 10.900 6 10.600 @ 7 43.900 5
17 | & H % 2 HEYa=TIREs ZT 12.750 | 3 9. 100 6 11.350 | 4 10.300 9 43. 500 6
I M R e B SoIEAY =T 12.050 | 6 8. 550 8 10.550 | 8 11.550 | 3 42. 700 7
5 | ExAKFERE H1 ParAR—=YITT 11.350 | 10 6. 800 12 10.900 = 6 11.450 @ 4 40. 500 8
10 | = ¥E7r 1 ARAVLITT 11.700 = 8 8. 700 7 8.900 13 10.400 8 39. 700 9
8 | A mk W2 RARLVITT 11.050 | 11 7. 800 10 10.550 | 8 9.750 10 39. 150 10
2 me KT Pl VarRAR=YITT 11. 850 7 7.850 9 9.500 @ 12 8.650 14 37. 850 11
4 T FIN BEFE OHF1L VarARR—YIITT 10.750 | 12 7. 050 11 10.000 10 8.250 15 36. 050 12
16 (A EE F1 HEYVa=TIEKEITT 10.650 | 13 6. 250 13 8.800 | 14 9.700 12 35. 400 13
3 WA K EE 2 VarAR—-YITT 10.550 | 14 6. 150 14 9.550 | 11 8.900 13 35. 150 14
1 K AR EH F2 VarAR=YIITT 10.500 | 15 5. 950 15 8.250 15 9.750 10 34. 450 15
9 A E Pl AERALZTT ¥y v %y o Xy ¥y Xy ¥y v ¥y
13 KR & 3 RBEEISEFAV2=T ¥ S VEAREY VALY Yo ¥y Xy ¥y *rv




